LDR, LM-393, and a Darlington Pair Configured as a Relay Driver

Explain this here
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- When'LDR resistance >= 43%. PIn2 on U1 s grealer
“than.Pin 3. This tums ON ine relay and lamp. When pin 2
is less than pin-3-then it is-turned off.
Use Keyboard "B" and Shift:B 10 adjust thé LOR resistance
- to see the light change states: S -

PR2

aft . ..
TIP125G

LoadPWR

K1

kil
o

[hS

N

1mH 530
R Spa_rkfup COMDUW 00

Lamp1
@uv_mw

Updated 9/24/2019 Electronics Workbench
801-111 Peter Street:

“Toronto, ON M5V 2H1

1416V a7 RERA

@‘ Electronics

|

Figure 1: This shows how an LDR and LM393 Comparator can be used to power a relay that
controls a high power load. The lamp is ON because the voltage at Pin 2 of the comparator

is greater than the set/reference voltage on pin 3.
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When'LDR Jesistance >= 45%, Pin 2 on U1 isgreater 1 -
than-Rin 3. This turns ON the relay and lamp. When pin 2

is less than pin 3 then it is turned-off

Use Keybpard "B" and, Shift-B to adjust thé LOR resistanceé | |
to see-the light change states: - - . B s
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Figure 2: Now the reference voltage on pin 3 is greater than the LDR voltage on pin2 and the

lamp goes OFF.



